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GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Engineering - SEMESTER-IV « EXAMINATION - SUMMER ¢ 2014

Subject Name: Railway Engineering

Time: 10:30 TO 13:00

Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is considered to be Authentic.
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Write the advantages of uniformity of gauge.
Explain the surface defects & their remedial measures.

What is the requirement of ideal alignment?
Write a short note on coning of wheel.

OR
Describe the requirement & functions of sleeper.

Compare the bull headed rails & flat footed rails.
Explain the grade compensation on curves.

OR
Explain the resistance due to friction that a locomotive in motion has to
overcome.
Draw a neat sketch of right hand turn out & describe its various component
parts.

Define points & its components.

What is the requirement of railway station?
OR

State the types of crossing & explain any one.

What are the functions of railway station?

(i) State the advantages of good maintenance of railway track.
(i) Describe the causes of maintenance.
Describe the objectives of signaling.
OR
Write a short note on marshalling yard.
Explain the pre-monsoon & post-monsoon maintenance of railway track.

*khkkkkhkiikkkik

Date: 23-05-2014

Total Marks: 70

1/2

07
07

07
07
07
07
07
07

07

07
07

07
07

04
03
07

07
07



U,

U,

U,

YAl

Yl

U,

Y

Y

g g £ £

oAl
As Aol AN ol SLRAEL AU
AUl UR Geetadl Wil wal Ag [Aarel AHestal.

uleel 2caugsll 3Radl g B ?
Usloll 2§50 UR Z5olltd UL
A Yl

o eURe{l w3RALA M Aott st sBUA.

£ £

g g £ £

£ £

£

G HIYALOL RE ol AU Ualalloll Retall qRuitHe(l 52U,
AoUs URej s sLUAet AHastal.

ual
ABot U(AHL Slat R uglll A (AQ ulcdl AU UHLA.

LRI Sl oll 2ol (B2 ofl Wil 1A Wal Aeil GUON wRUA,

USo2 Aol dotl @Ol UM,
R Rotoll 3RaAA g B ?
Ul
Sl{loL o1l YsLA LUl WA AN A As UL
A R3Aatoll stAl Y B ?

(1) A 2soll AR Qewarllell adl stael seudl.
() @enarll H2etl s1200 LUl
Rootcllol oll A ..
I
Hieclol au R sl Aull.
AHRAUL UBAL A Ule{l 2e 2soll (Aewall umestal.

*khkkkkhkhikkkkk

212

09
09

09
09

09

09
09

09
09

09
09

09
09

(0} 1
03
09

09
09



